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Algebra 1 Semester 1

Assessment Training Practice #2A

1.)  Which of the following is a solution to the function f(x) = -% X - 6 ? Show work for each

choice.
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2.) Which of the following is a solution to the function f(x) = 3x + 4 ? Show work for each

choice.
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List 5 of the infinite number of solutions to the graph. What is the slope of the line?
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Time | Distance
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5a.) The rate of change is constant in the table above. Find the rate of change and show your
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5b.) Explain what the rate of change means for the situation.
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5c.) What is the y-intercept for this data? Show how you determined the y-intercept.
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5d.) Explain what the y-intercept means for this situation.
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5e.) Write an equation to model this situation: (/ = Vp?%




This graph shows how the amount of dough Jessica has prepared is related to the number of

hours she has spent working at the bakery in a 40 hour week.
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Find the rate of change and show your work.
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Explain what the rate of change means for the situation.
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What is the y-intercept for thls data? Show how you determined the y-intercept.
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Explain what the y-intercept means for this situation.
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The graph shows the height of a plant over a 2-month growth period.

Height of Plant Over a
2 Month Growth Period

Height in cm
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7b.) Explain what the rate of change means for the situation.
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7c.) Whatis tSe y-mtercept for thlS data? Show how you determined the y- mtercept
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The graph shows the height above the ground of a rock climber over time.

Height Above the
A Ground of a Rock
Climber Over Time

Height in m
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8a.) Find the rat\e of change and show your work.
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8b.) Explain what the rate of change means for the situation.
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8c.) Whatis the y-intercept for this data? Show how you determined the y-intercept.
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8d.) Explain what the y-intercept means for this situation.
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8e.) Write an equation to model this situation:




9.)  The population of Dearborn in 2000 was 97,842. By 2010, the population had decreased to
84,962. Assume that the population of the city has decreased linearly since 2000 and will
continue to decrease linearly. Using 2000 as year zero, write an equation to model this

situation.
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9b.) What does the y-intercept mean in this situation?
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9c.) Whatis the slope? Show how you determined the slope.
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9d.) What does the slope mean in this situation?
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Mr. Crabs is counting his money after a week’s worth of business at the Crusty Crab. He
found after having a sale on Crabby Patties he had 5 visitors and had $99.00 in his vault
and on another day he had 8 visitors and had $129.00 in his vault. Create a linear equation
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that represents this situation.

10a.) What is the slope’? Show how you determined the slope.
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10b.) What does the slope mean in this situation?
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10e. ) What is the y-intercept? Show how you determined the y-intercept.
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10d.) What does the y- intercept mean in this situation?

77.0 (4~ //) /‘Cu,go 07L 7/“ G éﬁzﬁ?ﬂ{/) é%/(J/ vay fz;

97
had S %9 10 /74 bedore any VIS Tors arrived.
ation: ¢/ =/0% + 49

10e.) Create a linear equation that represents this situation: {/



